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QUESTION 1

Which of the following is the speed limitation for CAT3 wiring? 

A. 1 Mbps 

B. 10 Mbps 

C. 100 Mbps 

D. 1000 Mbps 

Correct Answer: B 

 

QUESTION 2

An IP address of 10.10.1.180 would be considered part of which of the following address classes? 

A. Class A 

B. Class B 

C. Class C 

D. Class D 

Correct Answer: A 

 

QUESTION 3

Which of the following devices transmits data to all ports regardless of final destination? 

A. Firewall 

B. Router 

C. Switch 

D. Hub 

Correct Answer: D 

 

QUESTION 4

A customer has asked a technician to install a new USB printer that is supported by Windows 7. The PC is running
Windows 7 Professional. 

Which of the following is the correct method to complete the installation? 



A. Connect the new USB printer and power it on. Windows 7 will automatically detect and add the new printer. 

B. Add the printer driver to the %SystemDir%\System32\Drivers folder, then connect and power on the printer. 

C. Click Start >All Programs >Control Panel >Printers and Faxes >Right click on desired printer and select "install". 

D. Configure the BIOS to boot from USB devices first. Connect and power on the printer. Boot the computer. 

Correct Answer: A 

 

 

QUESTION 5

Which of the following memory form factors is MOST commonly found in laptops? 

A. SDRAM 

B. SODIMM 

C. RAMBUS 

D. DIMM 

Correct Answer: B 

 

QUESTION 6

A user would like to share a local USB printer with several users in the office. 

Which of the following methods would BEST accomplish this? 

A. Install shared PCL drivers 

B. Install a USB hub 

C. Install a print server 

D. Enable print sharing 

Correct Answer: D 

 

 

QUESTION 7

When unable to get an IP address from a server, which of the following represents an APIPA address that a PC might
receive? 

A. 10.0.1.111 



B. 65.71.1.111 

C. 169.254.1.111 

D. 192.168.1.111 

Correct Answer: C 

 

QUESTION 8

A PC technician must upgrade memory from 2 GB to 4 GB in twenty Windows 7 notebook computers. Some of the
laptops have DDR2 memory, and some have DDR3. The memory purchased for the upgrade is DDR3. 

Which of the following is the MOST likely outcome of this upgrade? 

A. The DDR2 notebooks will work with DDR3 provided the DDR2 is installed in the first DIMM positions. 

B. The DDR3 notebooks are the only ones that will accept the new memory. 

C. The DDR2 memory will fit into the DIMM positions and work. 

D. The DDR3 memory will not work correctly unless the CAS (CL) values are the same. 

Correct Answer: B 

 

 

QUESTION 9

A user states that the display is not very bright on their laptop. 

Which of the following is the MOST likely location to adjust the brightness? 

A. In the Device Manager of the operating system 

B. In the BIOS 

C. Fn key 

D. In the video display drivers 

Correct Answer: C 

 

 

QUESTION 10

If a technician is trying to remote into a computer through a firewall, which of the following ports, by default, MUST be
forwarded? 

A. 21 



B. 25 

C. 110 

D. 3389 

Correct Answer: D 

 

QUESTION 11

A user wants to purchase a new computer to use word processing software only. 

Which of the following computer types should be recommended? 

A. Thin client 

B. CAD workstation 

C. Home server 

D. Gaming PC 

Correct Answer: A 

 

 

QUESTION 12

Which of the following technologies has the SHORTEST wireless range for printing? 

A. 802.11g 

B. 802.11a 

C. Bluetooth 

D. Infrared 

Correct Answer: D 
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